Please make sure that ALL of the questions can be answered CORRECTLY before taking on this assignment.  I will need brief explanations to the answers.

1-3 Carefully read the following paragraph below before responding to questions 1, 2, and 3.
Acme Inc. has just purchased new computers for $60,000. Suppose that in 8 years the computers will have a salvage value of $8,000. The college plans to depreciate the value of the computers linearly over the 8 years.
1.   Based on the above information, value (y) is a function of time (x). Compute the values of m and b that satisfy the equation y = mx + b.
a) Find m.
b) Find b.
2.   What will the value of the computers be 5 years from now?
3.   In the context of this problem, which of the following best describes the meaning of the slope?
(a)
The accumulated depreciation
(b)
The depreciation per year
(c)
The value of the computers at the end of a given year
(d)
The purchase price
[image: image1.jpg]4-6 Carefully read the paragraph below and examine the accompanying graph
to answer questions 4, 5, and 6.

A market research firm presented the following graph to one of its clients.
Revenue (R) and cost (C) are both expressed as a function of the number of
units manufactured (x). Furthermore, revenue projections for given values of x
can be found on the quadratic graph while cost projections can be found on
the linear graph.
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4. Find the number of units at which revenue is maximized.

4.
5. What is the maximum revenue?
5.
6. A profit is made when the number of units manufactured is
between a) and b)
6a.
6b.




[image: image2.jpg]7-8 Presented below are three graphs and two application problems labeled
questions 7 and 8. Each problem can be solved from information
presented in only one of the graphs. After matching a graph with the
appropriate application problem that it solves, use the information on the
graph to solve the problem.
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7. The fixed cost for manufacturing a mechanical pencil is $40 and the variable
cost per unit is $2. Find the cost to produce 15 pencils.

8.  The insecticide DDT is no longer available in many countries because of its long-
term adverse effect on the environment. A farmer uses 100 Ibs. of active DDT on a
field. If the amount of DDT decays exponentially over time, approximately how
many pounds of DDT will still be active after 20 years?




[image: image3.jpg]9. You deposit money into an interest bearing account in order to allow withdrawals of
exactly $250 at the end of each quarter for the next five years. If the balance after
the last $250 withdrawal is $0, which of the following amounts is the most
reasonable initial deposit?

(a) $5000 (b) < $5000 (c) > $5000

10.  How long (to the nearest year) will it take a deposit of $1000 to grow to $1500 if it
is invested at 7% compounded annually?

10.

11. If $2000 is deposited annually into an IRA account paying 8% compounded
annually, find the amount in the account after 40 years if the deposits are made at
the end of each year.

11.




[image: image4.jpg]12.  You are buying a house that costs $150,000. If you make a 20% down payment and
finance the balance with monthly payments at an interest rate of 6% compounded
monthly for 30 years, find your monthly payment.

12.

13. In order to purchase a home, you have just borrowed $100,000 and are
repaying the loan over 30 years with monthly payments of $600.00. If the
mortgage rate on your loan is 6% compounded monthly, prepare the first line of
the amortization schedule presented below.

Payment # Payment Interest Principal Balance
Reduction

- - - - $100,000

1 $600

a) How much of the first payment is interest?

13a.

b) What is the loan balance after the first payment has been made?

13b.

14. You purchased a new car with a $15,000 five-year loan at 8.4% compounded
monthly. Your monthly payment is $307.03. How much interest will you pay
over the life of your loan?

14.
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16.

17.

Before recent changes, the telephone company assigned area codes in the
following manner: The first digit must be any number from 1 to 9. The second
digit must be 0 or 1, and the third digit must be any number from 0 to 9. How
many different 3-digit area codes are possible under this pattern?

15.

In an effort to determine constituents’ feeling regarding election issues a
candidate asked a sample of voters to pick 3 issues from a list of 15 and rank
them in order of importance. If no ties are allowed, how many different rankings

are possible?

16.

Dave plans to attend two concerts on one weekend. The probability he will get a
ticket to the first concert is .4. The probability that he will get a ticket to the
second concert is .3. What is the probability that he will get tickets to both
concerts (assuming these events are independent)?

17.





[image: image6.jpg]18-20 Use the information in the table below to answer questions 18, 19, and 20.

A survey of 400 SNHU students was conducted to determine their favorite type of
music. The results are shown in the table below.

Rock Rap Country Western Total
Male 120 50 30
Female 90 70 40
Total

18. Find the probability that a listener is not a Rap fan.

18.

19. Find the probability that a listener prefers Country Western and is male.

19.

20. Given that the listener is a male, find the probability that his favorite music is rock.

20.




